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SECTION-I
GENERAL QUESTION
ENGLISH
PART-
1. The vitamin associated with Rickets is
(A) WVitamin A (B) WVitamin B
(C) Vitamin D (D) Vitamin E
2. The north —western India receives substantial rainfall during winter months
because of
(A) South West monsoons (B) Retreating monsoons
(C) North-East monsoons (D) Westerly disturbances

3 Which is not a Kharif crop ?
(A) Rice (B) Wheat
(C) Paddy (D) Cotton

4. Which one of the following is not a Fundamental Right in India ?
(A) Right to Equality (B) Right against Exploitation
(C) Right to Property (D) Right to Freedom

5. Which is the master gland ?

(A) Pituitary gland (B) Adrenal Gland
(C) Pancreas (D) Thyroid
6. The sum of the squares of two numbers is 80 and the square of their
difference is 36. The product of the two numbers is
(A) 22 (B) 44

(C) S8 (D) 1186
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1 1
Ifﬁ = 0.2689, then the value of e —— is
(A) 0.26B89 2.689
(C) 2689 (D) 26890
0.728x 0.728-0.272 x 0.272 -

0.456
(A) 3 (B) 4

(C) 2 ‘ﬂED 1

a a+b
If — =7, then

=?
b a—b

(A) (B)

(C)

Wik ol
W |4 W=

In a family, average age of father and mother is 38 years, whereas the
average age of father, mother and only daughter is 28 years. The age of

the daughter is :
(A) 5 years (B) 6 years

@ 8 years (D) 10 years

Which of the following pairs of artists and their areas of specialisation is

not correct 7

(A) Ustad Zakir Hussain Khan- Tabla
(B) Pt. Ravi Shankar - Sitar

(C) Hari Prasad Chaurasia - Flute
(D) M.S. Subbulakshmi — Dance
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12. Who is World Chess Champion at present ?
(A) Vishwanathan Anand ‘
(B) Magnus Carlsen
(C) WVladimir Kramnik
(D) None of these

13. Inthe earth’'s atmosphere, the atmospheric pressure
(A) increases with height
(B) decreases with height
(C) remains constant with height
(D) firstincreases and then decreases with height

14. Day and Nights are caused by
1. rotation of the earth on its axis
2. revolution of the earth around the sun
3. inclination of earth's axis
(A) Only 1 is correct (B) 1 and 2 are correct
(C) 2 and 3 are correct (D) All are correct

15.  Which of the following is a cashcrop 7 .
(A) Maize (B) Potato
(C) Rubber (D) Gram

16. Bhim Sen Joshi is associated with
(A) Light music (B) Vocal music
(C) Instrumental music (D) Ghazals

17. Buland Darwaza is located in
(A) Hyderabad (B) Bijapur
(C) Fatehpur Sikri (D) Delhi

18. How many spokes are there in our national emblem ‘Ashoka Chakra' 7
(A) 12 (B) 15
(C) 20 (D) 24
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19.  Which of the following medals was won by India's No. 1 badminton player
Saina Nehwal in London Olympics in 2012 ?

(A) Gold (B) Silver
(C) Bronze (D) None of these

20.  Which social reformer is associated with the abolition of Sati ?
(A) Dayanand Saraswati
(B) Swami Vivekananda
(C}) Raja Ram Mohan Roy
(D} Bal Gangadhar Tilak

21. Find the odd one out.
(A) Rose (B} Lotus

(C) Marigold (D) Lily

22. Find the odd one out,

® BD (B) MP
(C) HK 0) TW

23. Paddy is related to Field in the same way as Steel is related to ---—----——--
(A) Mine (B) Factory
(C) lron (D) Ore

24. There is certain relationship between first two words. Find out the words
from the alternative which has similar relationship with third word.

Newspaper : Press :: Cloth:?
(A) Tailor (B Textile
(C) Fibre (D) Mill

25. Complete the Series.
ADCGE?

(A) G By J

@! (D) L
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In the series gi*.ren, some of the letters are missing. which are given in that
order in one of the alternative. Choose the correct alternative.

ab-ba--ba-
(A) abba (B) baab

(C) baba abab

In the series given, some of the |etters are missing, which are given in that
order in one of the alternative. Choose the correct alternative.

a—-ba-bb-ab-a

(A) abab baab

(C) baba (D) abbb

Complete the series.
2,6,14, 30,62, 7

126 (B) 128

(C) 120 (D) 130

Complete the series.
1,3,7,13,21, 7
(A) 27 (B) 29

@ 31 (D) 33

If ACTION is coded as ZXGRLM, then HEALTH will be coded in the same
way as . ,

@ SVZOGS (B) TVZOGT
(C) RUZPGR (D) QVGOZQ

80% of 50% of 250% of 34 = ?
(A) 38 (B) 40
(C) 43 (D)) None of these
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The difference between 40% of a number and 28% of the same number is
198. What is the number 7

(A) 1500 1650

(C) 1750 (D) 1800

In an examination, 65% of the total examinees passed. If the number of
failures is 420, the total number of examinees is :

(A) 567 . (B) 693

(C) 1000 1200

A man sold his horse for ?1-BEDD and gained 10%. The horse was bought
for .

18000 (B) 317820

(C) ¥18120 (D) ¥18300

The value of an article was ¥75. First its value was increased by 20% and
then the increased value was decreased by 20%. What is the present
value of the article 7

(A) I78 (B) %74

(C) 278 72

The ratio of the ages of Meena and Meera is 4 : 3 and sum of their ages is
28 years. The ratio of their ages after 8 years will be

(A) 4:3 (B) 12:11
(C) 7:4 E:E

If 3 persons weave 168 shawls in 14 days, how many shawls will
8 persons weave in 5 days 7 :

‘(A) S0 (B) 105

(C) 126 . 150
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Two trains 105 m and 90 m long run at the speeds of 45 km/hr and
72 km/hr respectively in opposite directions on parallel tracks. How much
time do they take to cross each other ?

(A) 5 Seconds 6 Seconds
(C) 7 Seconds (D) 8 Seconds

Veena obtained ¥B376 as simple interest on a certain sum at 8% per
annum after 6 years. The sum invested by her was :

(A) T17180 (B) ¥18110

(C) %16660 217450

The diagonal of a rectangle is 10 cm long and it is equal to twice the
length of the rectangle. The area of the rectangle is :

(A) 25 cm? (B) 403 cm?
@ 253 cm? (D) 10 /3 cm?

A man travels 100 km towards South. From there he turns right and
travels S0 km and again turns right to travel 50 km. Which direction is he
from his starting point ?

(A) North (B) North - East
@ South-West (D) West

Pointing to a man, a woman said, "He is the only son of my mother's
mother”. How is the woman related to the man ?

(A) Aunt (B) Daughter

@ Niece (D) Sister

Which of the following words would appear in the middle if they are
arranged as in the dictionary order ?

Delude, Delirium, Defer, Demean, Delete

(A) Delude Delirium

(C) Defer (D) Demean
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44, If ‘+' means ' +', '+' means '—', '—' means ‘¥’ and 'x' means "+, then
1M0+2-15+3x5=7
(A) 10 (B) 15

(C) 25 5

45. In an examination result, Rohit ranks sixteenth from the top and forty ninth
from the bottom. Nine students did not appear in the examination. How
many students are there in the class ?

(A) 64 73

(C) T4 - (D) None of these

46. Six persons A, B, C, D, E and F are standing in a circle. B is between D
and C. A is between E and C. F is to the right of D. Who is between A and
F-?

(A} B [EI}. c

(C) D E

47. If 'tee see pee' means 'Drink Fruit Juice', 'see kee lee’ means 'Juice is
Sweet' and ‘'lee ree mee' means 'He is Intelligent’, which word in that
language means ‘Sweet' 7

(A) see @) kee
(C) lee, (D) pee

48. If the cook is called butler, butler is called manager, manager is called
teacher, teacher is called clerk and clerk is called principal, then who will
teach in the class ?

(A) Cook (B) Butler
(C) Teacher @ Clerk

49, Choose one from the alternative which is different from the others.

27 (B) 63

(C) 42 (D) 48

50. |If GIVE is coded as 5137 and BAT is coded as 924, how is GATE coded 7

(A) 5427 5247

(C) 5724 | (D) 23547
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SECTION-XI

GENERAL QUESTION
TELEGU VERSION
PART-I

{In case of an?.f ﬁan:l:iﬂun related ambiguity in question, English Version will hold good)

1. 03838 Howogind) oS
(A) 205 A B D65 B
(C) D262SD (D) DoWSE

2, Traindg FES8TTIE Borsrwod® Sorseo oBerdE sTEmo
{A) BH8 H&HDITew (B) 8&%os Headbdoro
L) &ardg DébddTe (D) 3Fydrd Koddh'wo

3. & 80D o8S° 08 wbd Hob 5
X (A) s8 B) Ao
C) %8 . (D) ®8

4, & Eod o8S" b 88T F0S® (ZSE Ty 5%
(A) ‘éﬁ?ﬁé&ﬁb 'E'F'EJEI_ (B) &%é& 335335 ::I"E:rar
(©) w} ooy (D) Hgomy oy

5 D8 3756 (Kod
(A) Bahorda (H0d - (B) ©| 858 (K08
(C) §%% Ko (D) Borows

6. Todd Jopgo ghare Twdo 80 Hddin g Zhere Bar 36. To
Ropge DOS0 Jod '
(A) 22 (B) 44
(C) 58 (D) 116
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1
e 0.2689 esoxa, o ——— gy Jwod Jod
(A) 0.2689 (B) 2.689
(C) 2689 (D) 26890

0.728x0.728-0.272x 0.272 5

0.456

(A) 3 (B) 4
) 2 /-:m 1
E=?1 E-DJJLE E=?

7 1
(A) 8 (B) Yy

2 4
() 3 (D) 3

2. ¥ Lévowods®, éﬁ',éntﬂv Pt ton Emfa::‘p?::ra 38 ﬁaﬁéaﬂ"m s e 4,808
Yo Yau ity D_E_E?ﬁ:ré:"g Dridn Hokbdoy 28 Doddyoren. HBrT Hohoy Jod:

(A) 5 Dodéydo (B) 6 Hodéydo

(C) 8 bonsydo (D) 10 HoB8y8o0

& Bod §v‘s‘*¢:’u§° zodwen 0Cin aHE H::-“.i_.'r" 15::::1"5;:" n.-'.uﬁl Lﬁ'ﬁgﬁr‘.‘«m
B8 50D D7

(A) &6 245 TR R - -
(B) 2088 S240%55-Tomb
(C) &0 (B& Tordalr -Jré.

(D) Do.a% wanyod ) -P)deo
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[BSo BB0S SSSolo oDoHS IS
(A) g5 w06 {B) Bify® EHS
(C) E‘eﬁbaﬁ_ (5°035 (D) =32 s

dr oreddnodt, orerdde Hdso

(A) Q8 DHibhéod

(B) 288 Sih&od

(C) Q& Bdorr Godwod.

D) D& Budd DHDHH0D ,E07gE SiHbod.

oo @, 5% B Ho Senhoron

1. &rd &85 efo wd 88Hbo el

2. gD 3rdgd HHer FDodeo b

3. Zrd ©ofo Jborwi™ doddo HY

(A) ESeo 1 drmEH $T58 4B) 1 #0bckn 2 HTUD
(C) 2 &ocin 3 HTHD (D) ey 2TID.

& 208 8S° D8 SK% Dok
(A) oLy RhY (B) =omrehod

/(,0}’ B3 (D) =34

HSo 0o =0t T0& dowodo aod
) o8& HohAdo (B) & dohdo
(C) orag Sohdo (D) Heedy

ood sorger JE) & dod

(A) Zrdorerd (B) Hefrb
(C) »BorE 8 D) &8

H0% =rach WE=yo ©F°E S ES° oy Shdeen dodron
(A) 12 (B) 15 !
(C) 20 | )D} 24
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19. 2012 ©04S 200DE "  rodBHH S0.1 argdions Lgﬂ'E‘EEE e
SHeS & S0d HESS VS AenHod?

(A) momrdo (B) deefo
(C) sroidgo (D) =a3d =H

20. O Do HoHy Yy VEI 2ty BoTd
(A) Scirdcd H8Hgd (B) e DFs=dods
() orer oo Brdee oeod (D) arreo Hormreetb &85

21. Eﬁﬁgﬁanﬂ &5y o) EHftdod.
(A) berd - (B) Zend -

(C) o _ (D) EJQ .

22. L’.’:ﬁgénn‘ 635 ordy EMoftHod.

AA) BD B) MP
. (©) Hk (D) TW
23. 508 derdE :’:aanqﬁiﬁ &0l ,aﬁ?; BOE Bowodo dodnod.
) 5D (B) g6
" (C) adodw (D) gréodH

24. TwodS Todh doee gy 28 Howogo &ob. Hurdd 808" ol SEPod
Dowogry FOn S0 [pErgdryoho 20D Hardy L5 H00.

251'5:51:-2:5 e wden : ?

) BoE (B) ©5y8S
(C) Bk (D) oew
25.
(B) J
(D) L
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26. & S0 wmEowo Lﬁﬁ:n:‘i‘ ¥ Lﬁﬂvga’:mlcﬁannv 'E-:itjr'ﬁ E‘E}l s oreD
éh;jé“m‘irun =20® Lﬂ@géﬁlﬁral QoDE Jahobd.

ab%balépal
(A) abba (B) baab
(C) baba (P) abab

27. & 500 oEco ([Fhod® ¥ |Dorgdrydhomr aO)d £, wiocw
S P Srow. DPD (DErgdryoird) JobE Tdhod.

a-+~ba-bb- ah - &
(A) abab (B) baab
(C) baba (D) abbb

28. ($500) Wyrdodod

2,6,14, 30, 62, ?

75l '\%:6“" (B) 128

(C) 120 (D) 130
29. |Edg)) rbodod

12’5; 13,21, 2

(AY = (B) 28

(¢) 31 (D) 33

30. S'sy 'ACTION' elaoreddnz 'ZXGRLM' o E‘ﬁ DopwsdsE 0
'HEALTH' B2~ §°G ﬁcﬁaud:émﬁ

(A) SVZOGS (B) TVZOGT
(C) RUZPGR (D) QVGOZQ

31. 34 Tk, 250% o), 50% Tng), 80% = ?

(A) 38 | (B) 40
(C) 43 (D) a3 =5
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a8 Dopg TnE) 40 Tdo ko @ eanm?g SIng)y, 28 ado gy sae
198. & Homg Jod? '

(A) 1500 (B) 1650
(C) 1750 (D) 1800

wl¥ DOES® , HbE oo B S 55 7o ood &E‘Qﬂiﬂtﬁ]"’gﬁi S24S T8
domg 420!'? &od, :’:E-E oD% T8 Fwdo Dopg Jod.

(A) 567 (%) 693
(C) 1000 (D) 1200

L8 K:g g &5 hiory Eoe. 1EIBUD§ J|FowoD 10 a"én ﬂ??ﬁﬂ Sroorid.,
r‘b[_ﬂ‘a;.’ Juéﬁ) E'El“lﬁ.'ﬁ

(A) 18000 (B) 17820
(C) 18120 (D) 318300

a8 SR Jwd Or.75, Twdd o= D0 EG Terd8 Dohod, ﬁ::rvgéi
20AD dend 20° rmﬂﬁ_éf#nﬂ: Se0E) (® ‘J:ar:i Dend dos

hy 8 (B 4
(C) %76 D) 72

Dz H8oke Hore Habinye V2P 4:3 Hocy >0 HabHye Ivgo
28 Joddyorew. B Doddyore dorgd o0 Habdoyw DS Jod

(A) 4:3 ' W) 12:11

(C) 7:4 (D) 6:5

3 SgHen 168 weoardy 14 &S JIH35TS, 8 H0d HgHew 5 rﬁﬁwej‘
D) TOTD) W, .

(A) 90 (B) 105

(C) 126 (D) 160
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38. 105 & 06ck» 90 d SEHS) Bod B HobH 45 88 HHockn 72 8
Shos” ;‘:gﬂﬁﬁ m’g “ﬂi}ﬁnéﬁcm_ﬁc}ﬁ EJ"E:, S Lﬁcﬁiﬁ*sﬁ‘@_a‘g‘m{:. wd
28 oy SoGPES orddrrol Qqé wmanciio adodob.,

(A) 5 2¥doen (B) B 2o¥dven
. . T
(C) 7 &S (D) 8 ¥doen

39. Do 5od Dodo Fdwy M (B8 Dodsydo 8 TedE o 8376 LoY
5& THpS Doardoled. B Doddyoro dogd oD wewad YL

Frdm) Jod. :
(A) T17180 (B) 18110
(C) 16660 (D) 17450

40. 2% &Eﬁ&ﬁ@sﬁﬁﬂ Sﬁgn 10 =ooin arde) ol wb &gﬁﬁ:ﬁih&?ﬁu
TEHE Tododw DIrdor sob. SfISS(Ersio Srogo Jod
i’ 2
(A) 25cm® (B) 40+/3cm
. 2
(C) 253 cm’ D) 103 cm

=

41. =% 558 im0 IHr 100 8w (Hofrsdowrdds. ©¥ & foow widd Do
St 86n 50 2w (Doirdosrd , 800 HE FHE 8300 50 8
(PoSrBomrt. o8k 85 |Fdod Fowod od widh O &4S° e

(A) &880 (B) eddo- &8y

/C} SEmo - D900 (D) DH3ydoo

42, o8 g 50 Sl QT 2 Lol aor ©90b, wdd T éE:I S5 JBE
Eynredoddy |, a0ty ol ﬁg BE bﬁ}@éjﬂlﬂ

(A) s (B) ©®rT

}} %58 %o | (D) T

43. & Bob T8S° 2 Hord) GEN0 |E0od” il o) WEgdS” EQ%Ion?
Dalu':ln, Delirium, Defer, Demean, Delete
(A) Delude | (B) Delirium

/C} Defer (D) Demean

SLT002315 103 2003



www.eenadupratibha.net
44. '+ wo¥' ¥ wowd, '+ wo¥'— wod ‘— woB'X wond X wod'+)
BWONB ----De0d Jodb, :

(A) 10 )y 15
(C) 25 (D) &

45. ¥ D0z HO&o” &FumE % D ol 163 ﬂ'éﬂ 000w Bod Hod JuD
Eﬂ:@:ﬁ%’i Q';J‘R)l Sroords. E‘EJ::&E: I:m‘-‘gﬁam ‘:‘.’:5§§: ayheadhs S‘F_'H‘i:-
SEK8SY Jodbiod ﬂmﬁgﬂ:m & Tmy 5 ?

64 (B)y 73
(C) 74 (D) ash s

46. b SgHheo A, B, C, D, E, F e of Sodhos® Qougedh. B, D 8 .
&acﬁmcg&dgﬁmlﬁzﬁizg 208050 , C & %o&g aayd. F, D &
£8 FH somydo. H0cin A, Fo iy 56 aam? |

(A) B (B) C
(C) D (D) E

47. teeae\epaa o Drlnk Frult Juice’ woxnd ‘sée kee lee’ wo® 'Juite is
Sweet' wans ‘ieﬁ ree mee ©o® 'He milntelllgent um?j @ RS D
B8 'SWEEt e ﬁm’in &-mfh"-‘ '

(A) see B) kee
(C) lee (D) pee

48. "EKJEED 208 @, 268 HI=b wd, HF2EI S35 wd W3S6 D E’EEF
i insmgsam Lﬂmﬂsﬁ“ﬁ © DEY, SEKBS* 6% B

(A) ©E (B) 2&6
(C) &858 D) 5

49. &5, 5 o398 T 40T wf o) [Hergdr)oho wod Jossted
(A) 27 (B) 63

};— 42 (D) 49

50. GIVE 5137 §°G Jchwds BAT 924 §°& Jahwd8 GATE Jo~ 5°8

waneood ?
(A) 5427 ) 5247
(C) 5724 "ﬁ} 2547
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PART-II/ HITT—-2
ENGLISH LANGUAGE QUESTION § 3{Uwil_ 4191 9e+

Directions : (For Q.No. 51 to Q.No. 57) : Choose the appropriaie
alternative which best expresses the meaning of given idiom/proverb.

To get into hot waters

(A) To be impatient

(B) To suffer a huge financial loss

(C) To getinto trouble

(D) To be in a confused state of mind

To spill the beans
(A) To reveal secret information (B) To misbehave
(C) To keep secrets (D) To talk irrelevant

To hold somebody to ransom
(A) To keep captive and demand concession

/(E} To humiliate somebody
(C) To offer bribe

(D) To blackmail and extract money

A cock and bull story

(A) A true story (B) A children story
/U?) A story of animals (D) A foolish and concocted story
Once in a blue meon
) Once in a month: (B) Bi-weekly
(C) On rare occasions (D) Every now and then

To keep the ball rolling
(A) To earn more and more To work constantly
(C) To keep the conversation going (D) To make the best use of

Make both ends meet
(A) manage the business (B) work hard
(C)} earnenough }EJ} cantrol affairs

Directions : (For Q.No. 58 to Q.No. 60) : In the following sentences, you
have to find out which part of sentence marked as (A), (B), (C) and
(D) has an error. If there is no error, the answer is 'No error’.i.e. (D).
By all standards / heis a best soldier / our military schc-::rl /

(A) . (B) (C)
has produced so far.

(D)

Students should not take part / in party politics and political
(A) (B)
demonstrations / as they interfere in serious study. / No error
(C) (D)
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60. Hadlcome / to know about / his difficulties /
(A) (B) (C)
| would have certainly helped.
(D)
Directions : (For Q.No. 1) : From the given alternatives choose the word which
can be substituted for the given words/sentence.
61. A paper written in one's own handwriting
(A) Manuscript (B) Scroll (C) Parchment ’?lj Tranacri.pt
Directions : (For Q.No. 62 to Q.No. 69) : In the following sentence, a
blank space is given. Choose the correct alternative from the options
which is most appropriate to fill the blank space.
62. If our friends are not able to take us in their car, we must make
. arrangements to go to the airport.
{A} pusslble ‘?} alternate (C) another (D) alternatwg
63. The environment was ................ to his work and that's why he
succeeded.
Va suitable (B) confirming (C) conducive (D) adeguate
64. The organisers of the cunferance have . e the allegations made
against them.
(A) retorted (B) repulsed (C) rebuked (D) repudiated
66. Thesun......... .. at six this morning.
(A) arose . [B] rusa (C) an:usad )D] raised -
66. The matter would have hecnrne serious if . veeren.. @Ction had not
been taken.
(A) deliberate (B) fast (C) hasty (D) timely
67. ... . a car to be absolutely necessary these days.
?J thfnl-c (B) regard (C) consider (D) agree
68. hese documents are of .................... historical importance as they throw
. a lot of light on men and matters.
Z} major (B) immense (C) terrific (D) high
69 ould you mind .................... 10 the Principal how the trouble started ?
(A) talking (B) remarking (C) telling (D) explaining
" Directlons : (For Q.No. 70) : Choose the appropriate alternative which
best expresses the meaning of given idiom/proverb.
70. To frame a person
(A) To befool someone (B) To make one appear guilty
(C) To praise someone (D) A narrow escape
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72.

73.

74.

75.

76.

78.

79.

80.

81.
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Directions : (For Q.No. 71 and Q.No. 72) ::Choose the word which best
expresses the meaning of the given word.

LETHAL _

(A}  Uniawful (B) Deadly (C) Sluggish (D) Smooth
ABRIDGE

(A) Abort (B) Span (C) Shorten (D) Cross
Directions : (For Q.No. 73 to Q.No. 75) : Pick the correct synonyms for
the following.

PENCHANT

(A) Like (B) Eagerness

(C) Disability (D) Dislike

ADVERSITY

(A) Crisis (B) Misfortune

(C) Failure (D) Helplessness
STUBBORN

(A) Easy (B) Obstinate (C)} Willing (D} Pliable

Directions : (For Q.No. 76 and Q.No. 77) : Choose the word which best

expresses the meaning of the given word.
INFINITE

(A) Strange @ Endless  (C) Indefinite (D) Vague

EXPOSE
( Open (B Reveal (C) Declare (D) Conceal

Directions : (For Q.No. 78 to Q.No. 80) : Choose the word opposile in
meaning to the given word.

MINOR

(A) Heavy (B) Tall {? Major (D) Big
OPAQUE

(A) Misty (B) Covered (C) Clear (D) Transparent
SHALLOW

(A) High (B) Hidden (C) Deep (D) Hollow

Directions : (For Q.No. 81) : In the following sentences, you have to find
out which part of sentence marked as (A), (B), (C) and
(D) has an error. If there is no error, the answer is 'No error' i.e. (D).

'The Arabian Nights' / have lots of interesting stories /

(A) (B)
for young readers. / No error

(C) L)
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Directions : (For Q.No. 82) in the following questions first and last part of
sentence is given as (1) and (6). Middle sentence is splitted in four parts
P, Q, R, S. You have to choose correct alternative having correct
sequence so that to make meaningful sentence.

82. (1) Atthe end of the assignment
(P) the field worker
(Q) submitted his papers
(R) forthe work done by him
(S) and also bills
(6) to the office superintendent.
(A) PQSR (B) QPRS (C) QSRP (D) RSQP

Directions : (For Q.No. 83 to Q.No. 85) : In the following questions, part
of sentence is bold underlined. There are four alternatives given. One of
them when replaces the part in bold make the sentence more
meaningful/better. You have to choose that option. If there is no
improvement, your answer will be (D) i.e. No correction required.

B3. To make him succeed, the correct thing to do is to punish him until he

does not try.
(A) until he tries (B) until he does try
(C) until he will not try (D) No correction required

84. The houses in our street are more beautiful than on the main road.
(A) than that on the main road (B) than those on the main road
(C) than there on the main road (D) Mo correction required

85. My mother is ill since two months.
(A) has been ill since (B) has been ailing since
(C) has been ailing for (D) No correction required

86. Ramesh while working on Microsoft Word faces problem to perform
particular steps. Which one of the following options of Microsoft Office
Word gives the answer of his queries ?

Edit (B) Insert
(C) Tool (D) Help
87.  Which type of icons cannot be deleted from the desktop ?
(A) Foldericons. System icons
(C) Program icons (D) Document icons

88. Which of the following is spread sheet package.
(A) MS Word (B) MS Power Point
}0 Windows : (D) MS Excel
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89. An operating system of a computer serves as a software interface

between the user and ’
(A) Hardware (B) Peripherals
(C) Memory {l}] Screen

90. The organised set of instructions to direct the computer in solving a
problem is called

(A) Program (B) Flow Chart
(C) Algorithm /l[p) All of these

Directions : (For Q.No. 91 to Q.No. 94) : Choose the word opposite in
meaning to the given word.
91. PROHIBIT

(A) Accept {m- Permit (C) Agree (D} Grant

92. INNOCENT
(A) Sinful (B) Guilty (C) Deadly {p} Corruption

93. HARMONY
(A) Hatred (B) Friction (C) Discord (D) Enmity

94. DORMANT
(A) Active (B) Modern {(C) Permanent (D) Transient

Directions : (For Q.No. 895 to Q.No. 100) : From the given alternatives
choose the word which can be substituted for the given words/sentence.
95. A person who does not believe in any religion

(A) Philatelist [y'naﬂnhaust (C) Atheist (D) Pagan
96. Bringing about gentle and painless death from incurable disease

/(Aj Suicide (B) Euphoria (C) Gallows (D) Euthanasia
97. One who cannot die

/@d Stable (B) Immortal (C) Perpetual (D) Perennial
98. Stealing from the writings of others

(A) Copying (B) Reframing

E;J] Reproducing (D) Plagiarism

99. A person pretending to be somebody he is not
{A) Imposter (B) Liar (C) Rogue (D) Magician

100. A word no longer in use
(A) Exotic @} Primitive (C) Obsolete (D) Ancient
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